
            

            

            

          

 

 

,Ugbr; rkd;ghLfs; 

Fwpj;jnthU njupahf; fzpaj;jpd; ,uz;lhk; tY tpyhd rkd;ghLfs; 

,Ugbr; rkd;ghLfs; vdg;gLk;.  

ax
 2

 +  bx + c = 0  tbtpuyhd xU rkd;ghL ,Ugb rkd;ghL MFk;.  

,q;F a  =  0 + b = 0 my;yJ  c = 0 Mfyhk; 

 x = y  = 0 vdpd;   

x = 0 my;yJ y = 0  

x = y = 0 vdpd;   

 x = 0 my;yJ y = 0 

(x – 1) (x – 2) = 0 vdpd;  

x – 1 = 0 my;yJ x – 2 – 0 x = 1 ck; x = 2 c + k; %yfq;fshFk; 

 

gpd;tUk; ,Ugbr; rkd;ghLfisj; jPu;f;f. 

1. (x - 2) (x - 3)     = 0 

2. b
2
 – 16               = 0 

3. (x - 1) (2 x – 1)  = 0 

4. 9x
2
 – 27x           = 0 

5. x ( x + 3)           = 0 

6. x
2
 + 15 x + 36   = 0  

 

 

 

ghlk; - fzpjk;     

juk; - 10  
Mrpupau; :- Mrs. K. tp[ayypjh  
Nf.nj`p. nj`pNahtpw;w> jkpo; kfh tpj;jpahyak;  

[Pd; thuk; :- 04 

rgufKt khfhz fy;tpj; jpizf;fsk; - thu ghlrhiy  



 


